St oP1

MOBILE MICROPHONE \ e SPEAKER SYNTOR ACCESSORIES

P1103
R +RED {MATES WITH .
The mobile microphone contains the microphone ele- = 41103 ON CONTROL heao) The mobile speaker provides the audio output from the
ment and a push-to-talk (PTT) switch. The microphone '\ ﬁﬂm]ﬂ *f- ] Cr*] H‘q; F radio. It is equipped with its own trunnion bracket and
. . . LAt — et 4
element converts speech to transmit audio signals for \ 7 may be mounted on the firewall or dashboard near the
the radio. The PTT switch controls the radio transmit- ‘ radio. The speaker is mounted in a strong, weather-
. . . . . STRAIN . .
ter. The microphone is supplied with a hang-up clip. ) RELIEF resistant housing.
L WHYT
N 15 L T ) o
RED GRN
BLK RED ]
GRN i Bl ] N
WHT
cagps sis-c parts list
HSNA4005A Mobile Speaker (8-foot cables)
pa rts Iist HSN4006A Mobile Speaker (25-foot cables) PL-6848-C
REFERENCE  MOTOROLA
’ SYMBOL PART NO. DESCRIPTION
HMN4002A Microphone PL-6849-A 1 V80702745 HOUSING ASSEMBLY (rear); includes:
REFERENCE  MOTOROLA 15084981807 HOUSING (rear)
SYMBOL PART NO. DESCRIPTION 3-140001 SCREW, tapping, 6-18 x 77,
" N phillips pan head; 4 used
cartridge, microphone . s/
R A . 3-132436 SCREW, machine, 6-32 x '¥¢". 4 used
DP1 2358‘(;3%;%(132;\01 dynamic, includes transistor preamplifier 5 7.80200E01 BRACKET, trunnion
O 0.6209300 3 35136756 SCREW, tapping, #10 X %",
~ connector. plu plain hex head; 3 used
£1103 o art of W1 - Piug 4 3-84244C01 THUMBSCREW, machine, 10-32 x %", 2 used
) P 5 50E80135E01  LOUDSPEAKER, magnetic, 5",
cord, microphone, colled 84564801 G‘X‘;ﬁé?m typ;z; Bw .
wi 30-83731A01  cable with connector 5 9208456480 : speaker-mounting
> 7 13B82671M04  BEZEL, speaker
switch sh 8 CONNECTOR, plug, female; consists of:
51 1082263602 dost T 14C84566B01  BODY, connector
P 9C84151B03 TERMINAL, contact; 2 used
9 42B82018H05 RETAINER, cable entrance
. 5 10 42A84081A03 CLAMP, cable; includes S hook
HMN4002A Microphone Mechancial Parts PL-6850-C 11 1V80703T06 CABLE ASSEMBLY: includes:
REFERENCE MOTOROLA DESCRIPTION 30C83155H01 CABLE, 2-conductor (8-ft.); each conductor
SYMBOL PART NO. #18 ga. stranded {zip cord), and
ded items § and 11 (HSN4005A)
1 38A84559803  PUSHBUTTON N : :
2 35140000 SCREW, tapping (#6-19 x %), 3 used or V80704784 CABLE ASSEMBLY; includes:
5 3-139813 SCREW, tapping (#8-18 x ¥2"), 2 used 30C83155H01 CABLE, 2-conductor _(25-ft,), each conducior
6 1VB0707T05 BRACKET & SPRING ASSEMBLY (eyeletted) fgdaegaiéesm": ”gdifd(zx"? (Cﬁgjrzfzz%%%m
7 1-80702735 HOUSING, microphone, rear {PEARL) -
8 3-13999 SCREW, lock (#6-19 x %),
phillips round head
9 487666 LOCKWASHER, #6 external
10 42A852710 STRAP, strain relief
11 35139999 SCREW, tapping (#6-19 x %),
phillips round head, 2 used
12 41A852707 SPRING, strain relief )
13 42A893647 CLAMP, cable “S” hook TRNB588A Hardware Kit PL-6206-A
14 15-82662M23 HOUSING, microphone, front FABPS 27548 A § - - REFERENCE MOTOROLA
15 42B82702B02  RETAINER, cartridge war ' SYMBOL PART NO. DESCRIPTION
1 32AB2703B01  GASKET, neoprene 7-BAB6OBOT BRACKET, wall mounting
17 37-2569 TUBIN lack, 5" - '
UBING, #9 biack, & fength used 7-84567801 BRACKET, hanger
non-referenced items 3-121103 SCREW, machine {6-32 x %)
13-84599B02  EMBLEM 3-3660 SCREW, tapping (6-20 x '4"), 2 used
¢ REPS- 6868 13 35-82652K01 BAFFLE, microphone
L3000X67} 33-82599001 NAMEPLATE
29-83277G02 LUG, insulation, 4 used
-
PL" SWITCH BOX :
parts list
MICROPHONE HANGUP
ON HOOK OFF HOOK o
~ HLN4188A Hangup Box L-6847-A
BO}( (O] ~ \,‘\,\‘/ ’&'«JJ D REFERENCE  MOTOROLA  precmipTION
e Vi ) SYMBOL PART HO.
: . i - i) X
The Model HLN4188A Microphone Hangup Box is | St 40-846228B04 Z’Eﬁf’lpst
used with Prtvate-Lme and D_tgttgl Przvate~LGe radllos . non-referenced items
to automatically place the radios in the monitor {carrier “eLacy 1-BO704T78 TOUSING ASSEMBLY, hangup box includes:
squelch) mode when the microphone is lifted off-hook. CONNECTOR reference item St
The h . . . | 1.80704T79 CABLE, assembly includes:
e hangup box also contains a slide switch to place the GND 18> 30-10136A15  CABLE, 2-conductor, 3 used
radio in the m i - 1 3 3 _ - ! 9-84151803 TERMINAL, contact, female, 2 used
e monitor mode with the microphone still on PLY ol GRN 3-139913 SCREW, tapping (818 x 14", 2 used
hook. - SELECT ~71 3-135495 SCREW, machine (2-56 x %), 2 used
! ~ . 4-8406 WASHER, lock, #2 int,, 2 used 68[.381 O45E04-F
L GAEPS-11269-0 40-84198C02 SWITCH, stack
I 42-82018HO7 RETAINER, cable (Sheet 1 of 2)

64-80240E01 SWITCH, pressure plate 7/19/83

ACCESSORIES



SYNTOR ACCESSORIES

HANDSET

The TMN6067A Handset is used in installations where a
telephone-style handset is preferred to the mobile
microphone and speaker. The unit operates in the same
manner as a telephone handset except that it has a PTT
button which is used to key the radio.

parts list

TMNB067A Handset PL-2241-A
REFERENCE MOTOROLA
SYMBOL PART NO. DESCRIPTION
1 15B84054A01 CAP, receiver {see note)
2 58CB4058A01 CARTRIDGE, receiver
3 15C84059A01 HANDLE (see note)
4 35124432 SCREW, machine (4-40 x 147},

phillips flat-head, 2 used

e o

5 40C84087A01 SWITCH, push, includes * \

pushbutton and dust cover
§ 15B84053A01 PLATE, switch cover

7 15B84055A01 CAP, transmitier (see note)

8 59B83272G01  MICROPHONE ELEMENT, VRO WO —
or 59D82933C02  telephone, dynamic type ™
78383352H01 BRACKET, cord retaining

10 1D84518C01 CORD ASSEMBLY, includes a molded-on

5-contact female connector
11 e CONNEGTOR, plug (part of item 10)

ABPS-11049-0

note: Order part number 15C84107A01 to obtain a replacement handle plus transmit
and receiver caps.

RECEIVER
CARTRIDGE

SWITCH |

BLK
YEL OR BLU

THN 606 7A
1 6RN
4>—’—— MICROPHONE
CARTRI
5>l RED _ peE
TO J1103 | ver or BLu / .
oN "micoR” 6> EL ORBLU

i

CONTROL HEAD o PBLK

CEPS-8493- 4

68PB1045E04-F
(Sheet 2 of 2)
7/19/83

HANDSET HANGUP BOX

The TLN4504A and TLN4505A (handset hangup
boxes) are used to automatically place Private-Line
and Digital Private-Line radios in the monitor (car-
rier squelch) mode when the handset is lifted off the
hook. The HLN4519A is used with carrier squelch
radios and performs only the audio switching func-
tion. The HLN4519A includes a slide switch which
allows the handset earpiece and the speaker to oper-
ate simultaneously. The TLN4504A is used with PL
or DPL radios and includes a monitor slide switch.
When this slide switch is in the monitor position,
PL or DPL squelch is disabled, and the receiver op-
erates in the carrier squelch mode.

r“.. i GRN
' | P/O
o [ﬂ P4104 (BLK)
75
I MONITOR-OPERATE l BLK 19
! SWITCH ! —
[ P/O
’ : ' P4402 (BLU}
| e
| RED | 2
o i
I Lo BRN 24
TLN4504A i P L
HENG-UP Q)/u P/O
[ SWITCH BOX HANG-UP
(SHOWN "OFF HOOK") SWITCH
| BOX
b e s e e e e _J BEPS- {1048-0

parts list

TLN4504A Handset Hangup Switch Box
HEN4519A Handset Hangup Switch Box

TLN4505A Handset Hangup Cradle PL-2240-B
REFERENCE MOTOROLA
SYMBOL PART NO. DESCRIPTION
1 7-B0200EO1 BRACKET, trunnion
2 4-1724 WASHER, flat (0.234 x 0.625 x .048"); 2 used
3 3-7302 SCREW, machine (10-32 x %),
phiflips hex-head; 2 used
4 15-84520C01 HANGUP CUP and SWITCH ASSEMBLY

(HLN4519A/TLNAS04A)
or 15C84520C02 HANGUP CUP (TLNA505A)

5 3-135507 SCREW, machine (6-32 x %",
phillips hex-head; 4 used

3] 1-80717B42 CABLE ASSEMBLY, includes attached
insertable connector contacts
(HLN451SA/TLNAS04A)

or 1-80723T90

7 42-82018H08 ANCHOR, cable strain relief

8 4-1720 WASHER, flat (0.156 x 0.375 x .030"); 2 used

g 1-80717B40 MOUNTING BASE & SWITCH ASSEMBLY
(HLN4S1GA/TLNAS04A)

10 13-84515C01 ESCUTCHEON (HLN4519A/TLN4504A)

or 13-845615C02 ESCUTCHEON (TLN4505A)

non-referenced items

3-136756 SCREW, tapping (10 x %"); 3 used
38-843830D02 CAP, protective; 3 used

3-138392 SCREW, tapping (8-18 x 1-%."); 2 used
9-84151B03 RECEPTACLE, contact; 3 used

14-84556B02 HOUSING, connector, biue
58-84514C01 ADAPTOR HANDSET CRADLE

o

MONITOR ~ OPERATE

| |
l SWITCH I
e ' )
l ; ° P1102 (BLU)
| [ YEL 20
‘ | | RED |
Mo/;.c | ‘ 12
] | o l BRN = 21
HLN4519A | Jo—
HANG~-UP O)/J P/O
I SWITCH BOX HANG-UF
(SHOWN "OFF HOOK") SWITCH
f _J BOX
[— . GBW-0643-0

FREPS.GTHR O




